

# Republic of the Philippines PROCUREMENT DEPARTMENT

Quezon City Government



2307013

Purchase Order Date:

Procuring Unit : DEPARTMENT OF PUBLIC ORDER AND SAFETY Project Number

AUG 1 0 2023

Company Name

Mode of

:DPOS-23-SOP-0541

: IJM ENTERPRISES AND SERVICES INC.

Procurement

:Public Bidding

Address

: #39 Peso St., Phase 8 North Fairview, Quezon City

Resolution No.

:23-PB-443

**TIN Number** 

:007-826-193-000

**Business Type** 

: Corporation Registration #CS201011617

Contact Number

:09088110807

Sir/Madam:

Please furnish this office the following articles subject to the terms and conditions contained here:

Place of Delivery: CGSD Central Warehouse

Delivery Schedule: Sixty (60) Calendar Days

Payment Term:

Credit

Stock	Item	Unit of	QTY	Unit Cost	Amount
No.		Issue			
13	Long sleeves Rush Guard, Dry Fit, Quick Dry/Uniform for Operation, Color: Black, T-shirt plain round neck with DPOS Logo and QC Logo (Heat Press Logo Design, customized), with 1 hidden pocket on the side, size: 7.5 inches (H)	piece /	65 /	558.00	36,270.00
14	Sizes/quantity: S - 8, M - 21, L -19, XL -15, 2XL - 2 Rain Boots 100% PVC Lining Polyester Weight: 2.5kgs Sizes/quantity: 6 - 1, 7 - 5, 8 - 15, 9 - 11, 10 - 10, 11 - 4, 12 - 4	pair 🗸	50	988.00	49,400.00 ,
15	Safety Goggles Transparent Full View Safety Goggles, Impact Resistant, Clear Safety Goggles, polarized, frame material: silicone, lens material: resin	piece /	60	500.00	30,000.00
	Safety Shoes High-cut Safety shoes, unisex, black, slip resistant, lightweight sole Sizes/quantity: 5 – 1, 6 - 2, 7 - 6, 8 - 7, 9 - 7, 10 - 6, 12 - 1	pair -	30 /	811.00	24,330.00
	Electrical Gloves for cutting electrical wires, (Lineman Work Gloves) Sizes: Small, Medium, Large	pair	100	2,556.00	255,600.00
	Headlamp Rechargeable, 1300 lumens, 8 modes with USB cable, water proof	piece	30 ,	1,570.00	47,100.00
19	Rope 50 feet long, heavy duty rope made of Polypropylene 2.5m - 5m lifting rope 14mm - 18mm Safety Rope, Braided Rope, Polypropylene Rope, Soft Rope	roll /	5	3,850.00	19,250.00
20	Caution Tape, 3 inches x 300 meters	piece	30	880.00	26,400.00
	****** Nothing Follows ******		7		

**Total Amount:** 

1,642,425.00

Total Amount In Words (Pesos):

One Million Six Hundred Forty Two Thousand Four Hundred Twenty Five Pesos Only

MA. JOSEFINA G. BELMONTE

City Mayor

Signature Over Printed Name of Supplier / Date

OBR: 10.2023-9-6484

Funds Available:

**RUBY G. MANANGU** 

City Accountant

Approved Budget for the Contract: 1,643,046.50

Page 3 of 3

1/24/23



### Republic of the Philippines PROCUREMENT DEPARTMENT Quezon City Government



PO Number **2307013** 

Purchase Order Date:

AUG 1 0 2023

Procuring Unit

: DEPARTMENT OF PUBLIC ORDER AND SAFETY

Project Number

:DPOS-23-SOP-0541

Company Name

Mode of

:Public Bidding ,

: IJM ENTERPRISES AND SERVICES INC.

Procurement

Address

: #39 Peso St., Phase 8 North Fairview, Quezon City >

Resolution No.

:23-PB-443 /

**Business Type** 

TIN Number

:007-826-193-000

: Corporation Registration #CS201011617

Contact Number :09088110807

#### Sir/Madam:

Please furnish this office the following articles subject to the terms and conditions contained here:

Place of Delivery: CGSD Central Warehouse

Delivery Schedule: Sixty (60) Calendar Days

Payment Term:

Credit

Stock	Item	Unit of	QTY	Unit Cost	Amount
No.		Issue			
1	Bike Tactical Zip Off Pants with 6 pockets Cargo Trousers, 94%/6% nylon/spandex fabric, removable pant legs for quick conversion to shorts, Non-slip shirt gripper panel at waist, Adjustable belt loops, made to order sizes for male and female bike patrol, Sizes/quantity: 24 - 1, 27 - 3, 29 - 7, 30 - 4, 31 - 2, 32 -10, 33 - 7, 34 - 13, 35 - 3, 36 - 9, 37 - 3, 38 - 7, 40 - 4, 42 - 1, 43 -1	piece -	75 _	2,180.00	163,500.00
2	Bike Gloves High Quality Breathable Fabric, Anti- Slip, anti-sweat, Thickened Sponge with Silicone Gel, Double Shock Proof, half finger gloves, Sizes/quantity: S - 17, M - 34, L - 24	piece _	75 _	1,650.00	123,750.00
	Bike Helmets Impact Management: Integrated MIPS (MULTI-DIRECTIONAL IMPACT PROTECTION SYSTEM), Construction: Fusion In-Mold Polycarbonate Shell, Sport: Cycling, Fit System: Ergo Fit - Sleek, Easy-To-Use Dial System for One-Handed Adjustments (Integrated with MIPS Layer), Product Weight: 340g  Product Color: Black, Sizes/quantity: M - 80, L - 20	piece _	100	2,850.00	285,000.00
	Bike Service Shoes Rubber sole - LIGHTWEIGHT & BREATHABLE - Steel toe sneakers, ANTI-SMASHING & ANTI-SLIP -Steelhead for safety shoes, mid cut, unisex, color black, Sizes/quantity: 5 - 5, 5.5 - 1, 6 - 2, 6.5 - 2, 7 - 6, 7.5 - 7, 8 - 11, 8.5 - 6, 9 - 5, 9.5 - 3, 10 - 12, 10.5 - 5, 11 - 4, 12 - 4, 13 - 1, 16 - 1	piece _	75_	2,150.00	161,250.00

MA. JOSEFINA G. BELMONTE

City Mayor

Funds Available:

RUBY G. MANANGU

**City Accountant** 

OBR: 10.203-4.645X

Approved Budget for the Contract: 1,643,046.50

Page 1 of 3



## Republic of the Philippines PROCUREMENT DEPARTMENT

Quezon City Government



PO Number

2307013

Purchase Order Date:

AUG 1 D 2023

Procuring Unit

: DEPARTMENT OF PUBLIC ORDER AND SAFETY

Project Number

:DPOS-23-SOP-0541

Company Name

: IJM ENTERPRISES AND SERVICES INC.

Mode of

:Public Bidding

Address

Procurement

: #39 Peso St., Phase 8 North Fairview, Quezon City

Resolution No. **TIN Number** 

:23-PB-443 :007-826-193-000

Business Type

: Corporation Registration #CS201011617

Contact Number :09088110807

Sir/Madam:

Please furnish this office the following articles subject to the terms and conditions contained here:

Place of Delivery: CGSD Central Warehouse

Delivery Schedule: Sixty (60) Calendar Days

Payment Term:

Credit

Stock	Item	Unit of	QTY	Unit Cost	Amount
No.		Issue			
5	Bike Vests Adjustable High Reflective Vest Led Flash Night, Name Plate Velcro type, Extra Small, Small, Medium, Large and Extra Large, Sizes/quantity: XS - 3, S - 15, M - 26, L - 19, XL - 6, 2XL - 4, 3XL - 2	piece	75 _	480.00	36,000.00
6	Tactical Bull Cap free size, color black with DPOS logo and surname embroidered	piece _	75 _	1,580.00	118,500.00
7	Rain Boots  100% PVC Lining Polyester  Weight: 2.5kgs  Sizes/quantity:  5 - 4, 5.5 - 1, 6 - 3, 6.5 - 2, 7 - 5, 7.5 - 6, 8 - 11, 8.5 - 6,  9 - 7, 9.5 - 6, 10 - 9, 10.5 - 4, 11 - 5, 12 - 4, 13 - 1, 16 - 1	piece _	75 _	998.00	74,850.0d
8	Short Sleeved-Bike Shirt (Dry Fit) Made of Quality Polyester Fabric; Color Red/ Blue, Short Sleeves and Quarter Length Zipper and QC-DPOS Sublimation Markings, Nameplate and Logos Sizes/quantity: XS - 7, S - 17, M - 16, L - 14, XL - 13, 2XL - 6, 3XL - 2	piece –	75 _	520.00	39,000.00
9	Handcuffs double lock, 2 keys, nickel plated steel, heavy duty	piece -	30 -	780.00	23,400.00
10	Bullet 9mm, caliber magazine	piece >	1,000 -	31.00	31,000.00
11	Cargo Pants, black, 6 pockets, radio holster, knee support, quick dry, Sizes/quantity: S - 11, M - 19, L - 24, XL - 10, 2XL - 1	piece /	65	1,200.00	
12	Cap Bull cap, black, cotton (with DPOS LOGO) customized, free size, adjustable	piece >	65	305.00	19,825.00

MA. JOSEFINA G. BELMONTE City Mayor

Signature Over Printed Name of Supplier / Date

Funds Available:

RUBY G. MÁNANGU City Accountant

Approved Budget for the Contract: 1,643,046.50

Page 2 of 3

OBR: 10.2023 - 07 · G454

#### **TERMS AND CONDITIONS**

- ALL PRICES INDICATED HEREIN ARE VALID, BINDING AND EFFECTIVE AT LEAST WITHIN THIRTY (30) CALENDAR DAYS FROM DATE OF RECEIPT.
- AWARDEE shall be responsible for the source(s) of its supplies/materials/equipment and shall make deliveries in accordance
  with the schedule, quality and specification of the award and purchase order. Failure by the AWARDEE to comply with the
  same shall be a ground for cancellation of the award and purchase order issued to that AWARDEE and for re-awarding the
  item(s) to the ALTERNATE AWARDEE.
- 3. AWARDEE shall pick up purchase order(s) issued in its favor within three (3) days after receipt of notice to that effect. A telephone call, fax transmission or electronic mail (e-mail) shall constitute an official notice to the AWARDEE. Thereafter, if the purchase order(s) remains unclaimed, the said purchase order(s) shall be sent by mailing or courier, messengerial service to the AWARDEE. To avoid delay in the delivery of the requesting end-user's requirement, all DEFAULTING AWARDEES shall be precluded from proposing or submitting a substitute sample.
- 4. Subject to the provisions of the preceding paragraph, where AWARDEE has accepted a purchase order but fails to deliver the required product(s) within the time called for in the same order, the delivery period may be extended a maximum of fifteen (15) calendar days under liquidated damages to make good the delivery. Thereafter, if AWARDEE has not completed the
- 5. delivery within the extended period, the subject purchase order shall be cancelled and the award for the undelivered balance, withdrawn from that AWARDEE. The BAC-Goods and Services shall then purchase the required item(s) from such other source(s) as it may determine, with the difference in price to be charged against the DEFAULTING AWARDEE. Refusal by the DEFAULTING AWARDEE to shoulder the price difference shall be ground for its disqualification from future bids of the same items, without prejudice to the imposition of other sanction as prescribed under RA 9184 and its RIRR.
- 6. When the supplier fails to satisfactorily deliver goods/services under the contract within the specified delivery schedule, inclusive of duly granted time extensions, if any, the supplier shall be liable for damages for the delay and shall pay the procuring entity liquidated damages, not by way of penalty, an amount equal to one-tenth (1/10) of one percent (1%) of the cost of the delayed goods/services scheduled for delivery for everyday of delay until such goods/services are finally delivered and accepted by the procuring entity concerned.
- 7. Rejected deliveries shall be construed as non-delivery of product(s)/item(s) so ordered and shall be subject to liquidated damages, subject to the terms and conditions prescribed under paragraph 4 hereof.
- 8. Supplier shall guarantee its deliveries to be free from defects. Any defective item(s)/product(s), therefore that maybe discovered by the *Quezon City Government* within three (3) months after acceptance of the same, shall be replaced by the supplier within seven (7) calendar days upon receipt of a written notice to that effect.
- 9. All duties, excise and other taxes and revenue charges, if any, shall be for the supplier's account.
- 10. As a pre-condition to payment, IMPORTANT DOCUMENTS specifically showing the condition and serial numbers of the imported equipment purchased should be submitted by the supplier to the *Quezon City Government*.
- 11. All transactions are subject to applicable withholding taxes in accordance with existing BIR rules and regulations.
- 12. Supplier shall furnish the End-user through the City General Services Department stockroom, the articles, described above;
- 13. The *Quezon City Government* reserves the right to accept or reject delivered articles if found not in conformity to the specifications, terms and conditions stipulated.

14. Provisions contained in Title VI, Book IV of the Civil Code of the Philippines on Sales are hereby incorporate	ed and made as an
Integral part hereof.	
15. This contract shall also serve as <i>Notice to Proceed,</i> to take effect on	and to expire on -
CONFORME: MMM	
man's loyalis lemor b. Hollen corporate Scire any 812	14/23 DATE
Duly authorized to sign this Purchase Order for and on behalf of IJM FWTCHNISC AND SENICES COMPANY NAME	Inc.
subscribed and sworn to before me this day of at, Philippines. Affiant perme and were identified by me through competent evidence of identity as defined in the 2004 Rules on Notarial Practice.	ctice (A.M. No. 02-
8-13-SC). Affiants exhibited to me his/her with his/her photograph and signature with No	appearing thereon
Doc. No	
Page No	
Book No	
Series of	